Dr. Z.’s Calc5 Homework assignment 16
. Solve the boundary value pde problem:
Uge = U ,0<ax <7 , t>0
w(0,6)=0 , w(mt)=0 , t>0 ;
u(z,0) =sin3z , w(z,0)=sindr , O<z<mw
. Solve the boundary value pde problem:
Upr = U ,0< < , t>0
w(0,t) =0 , wu(mt)=0 , t>0 ;
u(z,0) =10sinx , w(x,0)=2sin3z , O0<z<m
. Solve the boundary value pde problem:
Uge = Uy ,0<ax <7 , t>0 ;
w(0,t) =0 , wu(mt)=0 , t>0 ;
u(z,0) = 2%(r —2) , w(z,00=0 , 0<z<n7
. Solve the boundary value pde problem:
Uge = U ,0<ax <7 , t>0 3
u(0,£) =0 , wu(mt)=0 , t>0 ;
u(z,0) =0 , u(z,0)=a(r—z)> , O<z<7
. Solve the boundary value problem
QMg =ugr , O0<x<3m , t>0 ;

u(0,t)=0 , u@Bmt)=0 , t>0 ;

u(z,0) =37 —z) , w(z,0)=0 , 0<x<3m



